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RX 71,476 147,285 72,106 75,179 |F2JCHI5 T 297 644 311 333
2 thT6T 185 365 168 197

EEFWLET 288 606 303 303 H 1,449 3,027 1,449 1,578
EEFILET2T 381 790 355 435 |FXEET1T 822 1,531 673 858
EEFILBIST 540 1,265 589 676 |FXEET2T 340 715 352 363
£ 1,209 2,661 1,247 1,414 K EE/T3T 232 542 266 276

B4y EALET1T 190 293 196 97 |7 BET4T 15 37 19 18
B4 EALET2T 170 340 158 182 (K EEI5T 1 5 2 3
B4 EALBT3T 124 246 114 132 5 1,410 2,830 1,312 1518
1By EALRT4T 143 358 167 191 [FKZETFE1T 79 178 87 91
B 627 1,237 635 602 |FK2BTAE2T 62 99 41 58

By BT 222 391 194 197 5 141 277 128 149
By EEHRET2T 173 339 160 179 |7 2BTER1T 98 154 73 81
By EEHRET3T 136 351 168 183 |72 BTEHR2T 143 198 93 105
By EEHRET4T 60 106 56 50 K2 BTER3T 97 168 85 83
B 591 1,187 578 609 |FK2BTER4T 79 195 90 105

By EFRT1T 104 212 100 112 |3k Z2BTE®R5T 134 293 143 150
B4 EFgRT2T 88 174 90 84 B 551 1,008 484 524
By RT3 T 123 254 122 132 |ZHBT1T 66 71 31 40
JB4s EFgRT4T 98 233 108 125 (Z#RET2T 29 70 38 32
g 413 873 420 453 |ZHET3T 2 6 2 4

JB& 137 288 146 142 B 97 147 7 76
EZBTFEIT 41 95 42 53 | KETF1T 107 242 114 128
W BTEE2T 28 64 36 28 | KET#E2T 62 124 67 57
W2 BTEE3T 32 65 33 32 | KET#E3T 230 527 246 281
g 101 224 111 113 B 399 893 427 466

BZBIRIT 136 299 153 146 | KETER1T 25 54 26 28
W2 BTR2T 20 44 14 30 [ KETE2T 54 114 60 54
g 156 343 167 176 | KETER3T 82 153 74 79

AR 38 82 49 33 | KETEA4T 217 289 140 149
BET 312 692 328 364 B 378 610 300 310
BERT2T 163 359 154 205 | KGEALET1T 230 517 254 263
BIERTIT 524 1,179 602 577 | K;EALET2T 853 1,757 832 925
RIZETAT 131 310 157 153 [ KEJLET3T 490 869 424 445
g 1,130 2,540 1,241 1,299 B 1,573 3,143 1,510 1,633

—%&& 488 850 431 419 | KERETTT 157 397 186 211
BT 23 28 19 9 [KiEdRET2T 249 503 241 262
2 ET#E2T 195 440 210 230 | K;EGRET3T 344 758 376 382
T2 ET#E3T 48 89 32 57 B 750 1,658 803 855
g 266 557 261 296 | RGERGET1T 243 420 258 162

HZETERIT 37 53 28 25 | K;EFHET2T 394 714 340 374
HZETER2T 50 109 52 57 | K;EFHRT3T 489 768 364 404
HZETER3T 94 194 94 100 B 1,126 1,902 962 940
HZETER4T 61 114 57 57 |$HERT1T 260 370 201 169
HZETER5T 111 178 82 96 |$54EET2T 159 292 124 168
HZETER6T 49 102 52 50 B 419 662 325 337
g 402 750 365 385 (=B /NEFET1T 61 130 64 66

StET1T 273 581 282 299 =B /NEFET2T 21 43 19 24
SitEr2 T 296 662 327 335 =B /NEFET3T 18 26 16 10
SithET3T 261 378 183 195 [{=E/NFFRTAT 17 46 28 18
SithET4T 350 709 320 389 g 117 245 127 118
SithEI5 T 65 181 89 92 [iBILET1T 438 1,098 561 537
SithET6 T 484 1,008 536 562 |;BILET2T 380 1,011 481 530
B 1,729 3,609 1,737 1,872 [iBILET3T 103 179 93 86

KAETTT 107 188 91 97 [iBILRT4T 348 874 432 442
KARHET2T 119 210 94 116 [{EILETST 89 173 95 78
KARHETAT 86 248 124 124 g 1,358 3,335 1,662 1,673
KARHETST 66 153 76 77 |FREERTERTT 163 272 126 146
KARHETET 100 184 89 95 |FHEERTFE2T 98 211 95 116
B 478 983 474 509 |EREERTAE3T 255 386 202 184

ExenT 271 529 251 278 g 516 869 423 446
Exhr2T 131 250 120 130 (ERZERTERIT 27 53 26 27
A3 T 227 476 232 244 |FREERTER2T 239 549 250 299
Exhr4T 338 763 367 396 |FFEERTERIT 160 266 136 130
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FHERTRAT 177 302 156 146 [dt=E~ EBT2T 31 74 33 41
EREEMTERS T 65 122 59 63 [dt=E4 EE3T 127 260 112 148
EREEMTER6 T 284 322 224 98 [dt=E4 EET4T 75 184 83 101

B 952 1,614 851 763 [t =E~ EBI5T 61 126 56 70
E5yERT 700 1,302 658 644 (dt=E~ EBT6T 200 427 209 218
E4ER2T 377 875 440 435 (At =E4 EBTTT 124 289 133 156
E45ER3T 383 757 365 392 [dt=E~ EBT8T 311 632 208 334
E45ERT4AT 497 966 486 480 st| 1,066 2,315 1,070 1,245
E45ERST 302 710 336 374 Atz FHT 136 214 102 112

B 2,259 4,610 2,285 2,325 | =A@ 152 294 138 156
HMARETTT 148 356 170 186 ({HF0ET1T 234 424 192 232
HARET2T 595 1,481 731 750 |BANET2T 159 418 187 231
PN 140 300 160 140 ({HF0ET3T 210 505 252 253
HARETAT 207 361 206 155 [{HF0ET4T 333 677 308 369

g 1,090 2,498 1,267 1,231 |{#F0ETS T 503 1,052 457 595
EBHEIT 16 30 16 14 H 1,439 3,076 1,396 1,680
EH&E2T 40 95 44 51 |SR#EET1T 299 629 320 309
EHE3ST 35 87 41 46 |ERIEET2T 27 65 30 35
EHE4T 52 102 43 59 |SR#ERTST 214 457 224 233

g 143 314 144 170 B 540 1,151 574 577
ErERT 55 114 60 54 | ALFERTERTT 32 80 33 47
ErER2T 62 152 68 84 | hLIEIRTFE2T 120 278 142 136
ErER3T 102 238 109 129 B 152 358 175 183
ErER4T 38 97 51 46 |NLFEBTERI1T 56 132 64 68

g 257 601 288 313 | LERTER2T 77 187 92 95
AT 2 H 652 1,426 685 741 | LEETER3T 23 60 29 31
HEART T 97 175 98 77 B 156 379 185 194
HEART2T 428 1,060 510 550 |#EiRRTER1T 46 76 34 42
HEART4AT 1 6 3 3 |HEERTR2T 126 162 92 70

B 526 1,241 611 630 |#EiRBTER3T 22 39 21 18
LEET 124 218 97 121 | BRI ERE4T 58 132 64 68
dEET2T 55 94 44 50 g 252 409 211 198

g 179 312 141 171 (f@ET1T 131 286 150 136
L RIEET1T 109 272 121 151 |#EET2T 74 130 69 61
trREET2T 30 56 25 31 (fET3T 178 398 202 196

g 139 328 146 182 (t@ET4T 164 415 214 201
t;EKET1T 188 332 166 166 g 547 1,229 635 594
Jt;EKET2T 66 154 65 89 (REEFHTF1T 82 210 90 120
Jt;EKET3T 89 202 105 97 |REEFETFE2T 129 285 133 152

g 343 688 336 352 |REEFHTFE3T 10 15 5 10
JLERTIT 518 1,125 563 562 g 221 510 228 282
JLERT2T 70 123 54 69 [FEFFHTERIT 39 83 35 48
JLERTST 97 195 111 84 (REFFHTER2T 60 90 50 40

g 685 1,443 728 715 |REEFATER3T 94 160 88 72
StEEHET 118 246 126 120 |REEFHETERAT 131 241 117 124
dtEEHET2T 91 211 101 110 |REEFETERST 10 26 16 10
dtEEHEST 206 467 231 236 g 334 600 306 294

g 415 924 458 466 |EZHTFE1T 78 172 79 93
AL HREERT 1T 70 153 73 80 |EH ZHTFE2T 68 120 59 61
LHREERT 2T 49 110 55 55 |E 2 BTFE3T 36 53 29 24
L HREERTFE3T 151 285 142 143 E 182 345 167 178

B 270 548 270 278 |EHZHBTER1T 47 109 50 59
JLREERTER1T 90 204 100 104 (EEZHTER2T 37 86 38 48
JLREERTER2T 15 30 15 15 [EEZHETER3T 19 44 18 26

&t 105 234 115 119 B 103 239 106 133
bR BT 151 291 164 127 |RIBEHETTT 290 573 303 270
dtfEAOBTT 42 73 36 37 |mfERET2T 246 536 251 285
dtfiEAO/T2T 269 429 264 165 |RIPEHET3T 193 470 234 236
JtfEAO/T3T 9 21 9 12 |RIBEFET4AT 288 492 207 285

&t 320 523 309 214 (M ESRETST 219 518 256 262
bl oy i 54 112 54 58 |MIfESRET6T 375 724 362 362
JLH-ETER 42 84 44 40 5 1,611 3,313 1,613 1,700
hERE 104 204 100 104 |RIBEFEET1T 385 1,001 482 519
Tt=E45ER1T 137 323 146 177 |FIBEFRRT2 T 275 622 208 324
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AL e L e
BIETEERD 126 274 137 137 |BERT®R3T 106 246 110 136
RIfEFRET4AT 484 858 428 430 5 307 626 279 347

£ 1,270 2,755 1,345 1,410 (D FRFRTFE1T 50 82 40 42
RFEERET1T 222 405 206 199 [ FRFRTFE2T 90 175 86 89
RFEERET2T 401 868 421 447 |">MRFETEEST 96 230 112 118
RFERETIT 514 1,226 574 652 |V MAFETEEAT 63 153 71 82

B 1,137 2,499 1,201 1,298 5 299 640 309 331
AEE 279 627 288 339 | DMFETERIT 90 138 79 59
1ENRE & 102 198 100 98 |/DIRFHRTER2T 63 134 69 65
MAETFEIT 110 162 99 63 |V MAFRTERIT 97 164 90 74
MAETFE2T 151 248 129 119 [DFRFRTEAT 28 37 22 15
MAETFEIT 63 178 96 82 H 278 473 260 213

B 324 588 324 264 |FBFIEIT 52 112 55 57
MARETEIT 84 231 117 114 (FEF0&E2T 42 72 32 40
MAETER2T 47 90 44 46 |REFNEST 32 57 27 30
MABTERIT 70 155 yal 84 (FEFNE4AT 39 99 48 51
MABTERAT 99 227 108 119 |BBFEST 11 27 13 14

g 300 703 340 363 |RBFNE6T 16 38 20 18
£ 206 428 203 225 B 192 405 195 210
FERT 280 370 191 179 [FERETFETT 72 202 109 93
FKIGET2T 183 344 168 176 [FTERETFE2T 60 149 72 77

g 463 714 359 355 |BTTERETAEST 177 349 170 179
PRZBTEIT 88 205 95 110 [FTERETFEAT 86 166 74 92
P BTEE2T 73 186 85 101 B 395 866 425 441
PRZBTFE3T 117 255 124 131 [FERBETEIT 12 35 18 17

B 278 646 304 342 |FTERBIER2T 72 126 71 55
PZBTERIT 90 195 110 85 |FTTERMBIERIT 79 156 71 85
P BTER2T 19 36 13 23 |FITERBIRAT 101 193 95 98

g 109 231 123 108 B 264 510 255 255
H AR 274 516 269 247 |fH{RE 166 371 184 187
=%& 302 584 283 301 |3rHT 160 251 146 105
=BT 155 348 176 172 |#HEARTFE1T 32 81 40 41
==Hmr2T 524 1,141 550 591 (#BARTER2T 11 23 10 13
==FH3T 257 464 263 201 |tHBAETEE3T 31 69 36 33
==H4T 285 527 283 244 B 74 173 86 87
==H5T 292 669 344 325 [tHBAETER1T 87 182 79 103
==H16T 276 583 321 262 |fHEARTER2T 54 140 68 72
=FH9T 2 2 2 0 [fHEARTER3T 40 102 49 53

g 1,791 3,734 1,939 1,795 B 181 424 196 228
Bt 248 583 280 303 |BEREIT 37 84 35 49
t&aE 180 390 187 203 | ERE2T 19 32 18 14
I E T 717 1,593 754 839 | ERE3T 36 72 31 41
B AT 370 847 406 441 | ERBAT 36 79 38 41
REMRET 230 436 211 225 | EREST 12 33 17 16
HETmET2T 308 682 342 340 B 140 300 139 161
REMBIST 314 641 302 339 |RbERTIT 314 685 339 346
REMET4T 261 512 239 273 |RbIERT2T 83 193 87 106

g 1,113 2,271 1,094 1,177 |F0EET3T 110 175 101 74
EiEETE1T 5 12 7 5 B 507 1,053 527 526
BEiRRTFE2T 41 44 25 19 [{EHHEENT 512 837 386 451
BEiRRTFE3 T 316 502 263 239 |1x SHEET2T 81 165 77 88
BEiRRTFE4T 56 93 48 45 B 593 1,002 463 539

B 418 651 343 308 | KLY 62 162 83 79
EERTER1T 28 64 29 35 | KAl /AT 532 1,217 576 641
BRI 2T 16 30 16 14 (KALTFERT1T 368 657 306 351
e R 210 410 199 211 | KALFEET2T 12 14 9 5
BRI AT 83 170 77 93 | KALFERT3T 3 6 3 3

B 337 674 321 353 | KALFEETAT 7 19 10 9
BERETEIT 38 101 49 52 | KALFERTS T 58 105 50 55
BERETE2T 20 41 17 24 | KANLFERT6 T 33 46 22 24
ERETEIT 102 262 140 122 B 481 847 400 447

B 160 404 206 198 |SRVET1T 82 161 86 75
BEEEEIT 108 205 93 112 |SR0ET2T 55 123 53 70
BEERFE2T 93 175 76 99 |EHHET3T 69 148 65 83
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SWET4AT 6 21 9 12 |FfEET1T 70 161 72 89

B 212 453 213 240 |FEBEET2T 25 53 26 27
SZEET2T 32 53 31 22 |FARRETST 59 153 68 85
SZEET3T 102 201 112 89 |FIfERT4 T 60 144 71 73

B 134 254 143 111 H 214 511 237 274
H 3T 1,565 3,252 1,695 1,557 |BRET1T 54 103 44 59
i) \VEHT 5 5 5 0 |BRET2T 128 218 110 108
HEEFETT 349 616 284 332 |BRET3T 181 380 172 208
HEEFE2T 155 392 189 203 |BRET4T 301 603 275 328
HEEFEST 204 461 228 233 H 664 1,304 601 703
HEEFEAT 198 348 200 148 (S8 2 BETFE1T 93 234 102 132

£t 906 1,817 901 916 |fg2BTFE2T 41 99 49 50
HERT 236 468 211 257 |$RZBTFE3T 93 244 119 125
HEET2T 654 1,415 661 754 5 227 577 270 307
HEET3T 286 627 310 317 |88 2BTE1T 69 148 77 Al
HERT4T 175 412 193 219 |fR2BTER2T 53 113 49 64
HEHRT5T 181 416 208 208 B 122 261 126 135

g 1,532 3,338 1,583 1,755 |FasK ILE 120 251 134 117
H & TG HET 7 14 6 8 |FEEmET1T 201 395 189 206
HEEE 105 212 113 99 |FG;ERT2T 133 243 113 130
S FRET 91 199 93 106 |FaZ=MT3T 147 281 131 150
FHETFE1T 46 68 42 26 |FGERT4T 197 410 201 209
FHETFE2T 113 228 104 124 (F5ZEMET5T 281 566 263 303
FHBTFE3ST 169 306 155 151 |FaZEmT6 T 117 230 113 117

g 328 602 301 301 B 1,076 2,125 1,010 1,115
FHETERIT 4 77 36 41 |=%&38 237 479 200 279
FHETER2T 84 124 67 57 |REFHZHT 370 724 357 367
FHBTERIT 111 177 94 83 Bk ILE 40 88 46 42
FHETERAT 96 165 80 85 |HERT1T 86 157 83 74

g 332 543 277 266 |HERT2T 146 343 165 178
R EHR1T 55 106 56 50 |EREHET3T 169 349 166 183
hEET2T 18 38 14 24 |RRERTAT 93 198 104 94

B 73 144 70 74 |BRERTST 173 370 197 173
FEFEET1T 233 407 210 197 |BZEMT6T 70 117 54 63
R EFEET2T 37 85 38 47 &t 737 1,534 769 765

g 270 492 248 244 |¥ABET1T 138 300 155 145
P EEHFETTT 101 218 101 117 (R EBHET2T 234 557 267 290
R FET2T 122 297 139 158 &t 372 857 422 435
R FETST 179 416 197 219 [#aEXRFIEIT 130 286 157 129

B 402 931 437 494 |WEBXF)I@2T 174 382 194 188
Frk LUE 73 156 71 85 (B XF0)I@3T 46 46 46 0
=alvd:i i N 111 160 95 65 B 350 714 397 317
2 BTFE2T 55 113 56 57 | =B~y EHFER 35 59 32 27
2z BTFE3T 268 461 242 219 |#&~ EdLET1T 104 138 105 33
2 BTFE4T 139 207 96 111 |#Fr EALET2T 179 304 142 162

B 573 941 489 452 |#&+~ EILET3T 91 182 95 87
hZETER1T 61 101 49 52 |#&~ EILET4T 146 344 162 182
hZBTER2T 112 167 94 73 B 520 968 504 464
hZBTER3T 83 160 78 82 |#k~s EHhET1T 100 226 101 125
hZ2BTERAT 88 178 91 87 |k EhHET2T 177 350 153 197

&t 344 606 312 294 |#&~s EHET3T 156 335 153 182
h=E~sEBT 99 266 115 151 [#&~ EhEBT4T 112 243 106 137
h=Ey ERT2T 44 108 52 56 g 545 1,154 513 641
h=E4s R8T 61 141 63 78 |#&~ EEEART1T 70 149 77 72
h=E4s ERT4T 134 294 137 157 |#&~ EFRT2T 20 44 22 22
h=E4s ER5T 107 268 124 144 |#&~ EFRT3T 42 87 45 42
h=E4s ERT6T 152 342 166 176 |#k~ EFIRT4AT 68 169 75 94
h=E4sER/7T 132 306 145 161 g 200 449 219 230

&t 729 1,725 802 923 |#XET1T 121 272 130 142
FEHET 352 467 248 219 |#xHET2T 232 461 247 214
hRHE2T 137 253 123 130 [#kET3T 4 8 5 3
FEHEIT 155 206 138 158 g 357 741 382 359

B 644 1,016 509 507 | ELHT 57 76 40 36
At f AT 76 149 66 83 [FAMIZAT1T 212 475 228 247
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FERZET2T 19 32 17 15 289 644 326 318

B 231 507 245 262 |Hl2BTER1T 134 333 159 174
HEETT 74 150 81 69 |l zBTE2T 81 202 98 104
HEET2T 176 420 202 218 215 535 257 278
HEET3T 105 164 105 59 [J\I&&1T 17 33 19 14
HEET4AT 33 75 32 43 |J\i&@E2T 15 34 15 19
HEETST 70 139 62 77 |)\IB@E3T 29 67 29 38
B 458 948 482 466 61 134 63 71
ME/KETT 74 209 93 116 |ILARET1T 544 1,372 694 678
MAEKET2T 24 50 22 28 [IUAHET2T 235 603 291 312
FAEKET3T 218 451 239 212 |LUAKRET3T 22 72 36 36
B 316 710 354 356 |LLUIAHETST 515 1,036 569 467
FAFERTT 223 504 257 247 1,316 3,083 1,590 1,493
FAERT2T 167 318 135 183 |EMIBAT1IT 120 194 96 98
B 390 822 392 430 | EMIEET2T 226 297 198 99
FHEHET 102 226 114 112 346 491 294 197
PHEEFHE2T 79 170 85 85 |[EFE&E 118 202 102 100
MHEEFEST 82 190 86 104 [R&E 189 373 169 204
PHEEHET4T 132 314 151 163
B 395 900 436 464
FRERTEIT 122 232 116 116
FiRERTFE2T 93 207 91 116
FRERTFEST 173 369 175 194
FRERTFEIT 99 202 93 109
B 487 1,010 475 535
FRERTERIT 153 233 132 101
FRERTR2T 143 279 137 142
FRERTRIT 18 40 13 27
FRERTRIT 138 268 127 141
B 452 820 409 411
MAEEORT 84 135 69 66
MAEEOR2T 55 78 34 44
B 139 213 103 110
AT 85 143 74 69
FEFETFE2T 47 99 51 48
FAFETFEST 130 287 145 142
FFETFE4T 34 69 28 41
B 296 598 298 300
FHETRIT 56 103 47 56
FHETR2T 29 65 33 32
Hi 85 168 80 88
AR E 100 230 106 124
H=E~sEBMT 135 293 136 157
HM=E~ER2T 77 156 76 80
H=E~sER3T 150 360 164 196
H=E~sER4T 168 413 192 221
H=E~ER5T 192 479 228 251
H=E~ERT6T 287 581 272 309
5| 1,009 2,282 1,068 1,214
BERHFEIT 36 73 30 43
FERFET2T 88 262 131 131
FERFETIT 56 121 58 63
FERFETAT 12 26 16 10
FERHFETST 73 148 72 76
FERFET6T 39 85 39 46
&t 304 715 346 369
BEEYET 388 716 371 345
BEEYEN2T 240 477 221 256
&t 628 1,193 592 601
XEEIEE 192 424 207 217
INTFRE 181 389 180 209
WZBTFE1T 65 105 53 52
WZETFE2T 106 250 137 113
HZBTFE3T 118 289 136 153
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